PC—AS1500 [BEESHA]

[2. OmANY]

S=1:20

(RFERNS 7ERENBRERESL - AETRICEICAEEN GL+0m [2K3)

ERmRDIAU b FAIRBN M8 x 25

2-F33REBN M8 x 65 -—apf— - ——
(W) % &—
@&

‘( % 2-#4EBN M8 x 30

RZImA a4 b T

=
ik VAR

FHEBN M8 x 30

FERPECIAVE

3-FA1REBN M8 x 65

2000 2000
$48.6x3.2
[ $38.1x1.6
T 1 S A
e / B = %
4 . :
TEXEHRER i
|
|
|
|
‘ |
i 3 E |
) 3 ld al
‘ \ 4.0 " |
|
|
$38.1x1.6 i
[~ Ok |
17T SRR I
GLAOn i T %%
i | )
1| e50.8x23 $50.8x2.3 éi g |
1 1 |
i Vo 1 i
300 300
U AR ERER AT s=1:6 P ERER AR s=1:6

2-f84EBN M8 x 25

Wit

Gt PR

4!
% A-FB3RBN M8 x 30

L KNTT TR .
EALTAYAN 2-#4RBN M8 x 30

AR ICEMEETEEmE  s-1:3 BYNUEK  s=14
BYNUER
_T_
|
i
|
L
KRR
©9.5¢c. t. c. 300
BEt &
B E- - -BMS7ERECEERLEL - AETRICEDICRAENIZIKS,
EHE- - BEERST. TmUT(EEEO. 3t./m)
TEITEEEDHET D,
m., BREEERNEOHEHLEIITHEL,
HEBEHE - - - REHFAHMA 98 kN/mM (10t m)
HETZEE30cmET B,
ot

1. NEFEHEERMITBIRERD - ETET D,

241008013—2

2024.03




